# Porter, Banks, Baldwin & Shaw, PLLC

327 MAIN STREET P.O. DRAWER 1767 PAINTSVILLE, KY 41240 TAX ID#81-4822291

August 17, 2022 S00020-00001 CHENOWETH - ASSOCIATE, GRANT 59153

SPENCER COUNTY BOARD OF EDUCATION 110 REASOR AVENUE TAYLORSVILLE, KY 40071 chuck.abell@spencer.kyschools.us greg.murphy@spencer.kyschools.us

#### SPENCER COUNTY BOARD OF EDUCATION - GENERAL MATTERS

### **PROFESSIONAL SERVICES**

07 01 2022	GC	TELE. CALL FROM W. BEYER RE FEBRUARY 2021 INCIDENT	0.20 hrs @ 150	/hr	30.00
07 01 2022	GC	REVIEW CORRESPONDENCE FROM ATTY. JACKSON RE DISCOVERY STATUS IN ONGOING LITIGATION	0.30 hrs @ 150	/hr	45.00
07 01 2022	GC	PREPARE EMAIL TO BD. CHAIR SHELBURNE RE POTENTIAL ADDITIONAL CHARGES CONCERNING PERSONNEL	0.10 hrs @ 150	/hr	15.00
07 01 2022	GC	TELE. CALLS FROM BD. CHAIR SHELBURNE RE SPECIAL MEETING	0.10 hrs @ 150	/hr	15.00
07 01 2022	GC	EXCHANGE EMAILS WITH ATTY. WALTHER RE PERSONNEL MATTER	0.20 hrs @ 150	/hr	30.00
07 01 2022	GC	PREPARE EMAIL TO ATTY. ALLEN RE STATUS OF COMMISSIONER'S REVIEW OF CHARGES	0.10 hrs @ 150	/hr	15.00
07 01 2022	GC	EXCHANGE CORRESPONDENCE WITH M. BARLOW AND ACTING SUPT. ABELL RE SPECIAL MEETING AGENDA AND NOTICE	0.10 hrs @ 150	/hr	15.00
07 03 2022	GC	PREPARE PROPOSED AMENDMENT TO STATEMENT OF CHARGES	0.40 hrs @ 150	/hr	60.00
07 03 2022	GC	EXCHANGE CORRESPONDENCE WITH W. BEYER AND K. COOK RE FEBRUARY 2021	0.20 hrs @ 150	/hr	30.00

S00020 - 00001

#### INCIDENT

07 03 2022	GC	TELE. CALL FROM K. COOK RE FEBRUARY 2021 INCIDENT	0.20 hrs @ 150	/hr	30.00
07 03 2022	GC	REVIEW MEETING NOTICE	0.10 hrs @ 150	/hr	15.00
07 03 2022	GC	EXCHANGE CORRESPONDENCE WITH ATTY. WALTHER RE STATUS OF PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
07 04 2022	GC	PREPARE MOTION LANGUAGE FOR BOARD'S WITHDRAWAL OF PRIOR CHARGES AND ADOPTION OF AMENDED STATEMENT OF CHARGES	0.10 hrs @ 150	/hr	15.00
07 04 2022	GC	TRAVEL TO/FROM BOARD OFFICE FOR SPECIAL MEETING	1.40 hrs @ 150	/hr	210.00
07 04 2022	GC	MEET WITH BOARD RE PERSONNEL MATTER	0.40 hrs @ 150	/hr	60.00
07 04 2022	GC	PREPARE CORRESPONDENCE TO ATTY. JACKSON RE DISCOVERY IN ONGOING LITIGATION BY FORMER EMPLOYEE	0.20 hrs @ 150	/hr	30.00
07 05 2022	GC	PREPARE CORRESPONDENCE TO ATTY. WALTHER RE PERSONNEL MATTER	0.20 hrs @ 150	/hr	30.00
07 05 2022	GC	TELE. CALL TO ATTY. WALTHER RE PERSONNEL MATTER	0.30 hrs @ 150	/hr	45.00
07 05 2022	GC	TELE. CALL WITH ATTY. WALTHER AND ATTY. ALLEN (KDE) RE INTERPRETATION AND APPLICATION OF KRS 160.350(3)	0.80 hrs @ 150	/hr	120.00
07 05 2022	GC	PREPARE LETTER TO COMMISSIONER GLASS REGARDING AMENDMENT OF CHARGES	0.20 hrs @ 150	/hr	30.00
07 05 2022	GC	REVIEW EMAIL FROM ATTY. JACKSON RE DISCOVERY IN LAWSUIT	0.10 hrs @ 150	/hr	15.00
07 06 2022	GC	REVIEW EMAILS FROM D. THOMAS WITH VOICE MAIL AND NEW RECORD REQUEST FROM CITIZEN	0.20 hrs @ 150	/hr	30.00
07 06 2022	GC	REVIEW EMAIL FROM ACTING SUPT. ABELL RE PROPERTY DISPOSAL	0.10 hrs @ 150	/hr	15.00
07 06 2022	GC	REVIEW CORRESPONDENCE FROM ATTY. ALLEN RE BOARD'S WITHDRAWAL OF JUNE 2, 2022, CHARGES AND ADOPTION OF AMENDED CHARGES	0.20 hrs @ 150	/hr	30.00

S00020 - 00001

07 06 2022	GC	PREPARE EMAIL TO BD. CHAIR	0.10 hrs @ 150	/hr	15.00
		SHELBURNE RE COMMUNICATIONS WITH KDE LEGAL COUNSEL			
07 06 2022	GC	PREPARE EMAIL TO CITIZEN RESPONDING TO REQUEST FOR INFORMATION	0.10 hrs @ 150	/hr	15.00
07 07 2022	GC	REVIEW EMAIL FROM ATTY. WALTHER RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
07 07 2022	GC	EXCHANGE EMAILS WITH D. THOMAS RE REQUEST FOR PERSONNEL RECORDS FROM ANOTHER SCHOOL DISTRICT	0.10 hrs @ 150	/hr	15.00
07 08 2022	GC	REVIEW EMAIL FROM CITIZEN RE INFORMATION REQUEST	0.10 hrs @ 150	/hr	15.00
07 11 2022	GC	REVIEW EMAIL FROM ATTY. WALTHER RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
07 11 2022	GC	RESEARCH PERSONNEL ISSUE RAISED BY ATTY. WALTHER	0.30 hrs @ 150	/hr	45.00
07 11 2022	GC	DRAFT RESPONSE EMAIL TO ATTY. WALTHER RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
07 12 2022	GC	PREPARE RESPONSE TO CITIZEN'S RECORD REQUEST	0.20 hrs @ 150	/hr	30.00
07 13 2022	GC	EXCHANGE EMAILS WITH WITNESS REGARDING PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00
07 13 2022	GC	PREPARE SUPPLEMENTAL EMAIL TO ATTY. ALLEN	0.10 hrs @ 150	/hr	15.00
07 13 2022	GC	PREPARE EMAIL TO ATTY. WALTHER RE PERSONNEL MATTER	0.20 hrs @ 150	/hr	30.00
07 14 2022	GC	EXCHANGE CORRESPONDENCE WITH D. THOMAS RE SUBPOENAED RECORDS	0.10 hrs @ 150	/hr	15.00
07 18 2022	GC	REVIEW CORRESPONDENCE FROM D. THOMAS RE SUBPOENA OF STUDENT RECORDS	0.10 hrs @ 150	/hr	15.00
07 19 2022	GC	EXCHANGE CORRESPONDENCE WITH M. BARLOW RE PLANNING FOR 7/25 BOARD MEETING	0.10 hrs @ 150	/hr	15.00
07 19 2022	GC	PREPARE CORRESPONDENCE TO DR. SHELBURNE RE PREPARATION FOR 7/25 BOARD MEETING	0.10 hrs @ 150	/hr	15.00
07 20 2022	GC	REVIEW ATTY. NU'MAN'S CORRESPONDENCE TO DR. SHELBURNE RE PERSONNEL MATTER	0.10 hrs @ 150	/hr	15.00

S00020	- 00001

S00020	- 00001				
07 20 2022	GC	TELE. CALL FROM DR. SHELBURNE TO DISCUSS COMMISSIONER'S INVESTIGATION	0.20 hrs @ 150	/hr	30.00
07 22 2022	GC	EXCHANGE FOLLOW-UP CORRESPONDENCE WITH M. BARLOW F AGENDA FOR 7/25	0.10 hrs @ 150 RE	/hr	15.00
07 25 2022	GC	PREPARE CORRESPONDENCE TO ATTY LAMB RE DEFICIENT SUBPOENA FOR STUDENT RECORDS	7. 0.20 hrs @ 150	/hr	30.00
07 25 2022	GC	PREPARE EMAIL TO D. THOMAS RE SUBPOENA FOR STUDENT RECORDS	0.10 hrs @ 150	/hr	15.00
07 26 2022	GC	RETURN TELE. CALL TO ATTY. LAMB RE SUBPOENA FOR RECORDS	0.10 hrs @ 150	/hr	15.00
07 27 2022	GC	EXCHANGE CORRESPONDENCE WITH DESCRIPTION OF STUDENT RECORDS		/hr	15.00
07 27 2022	GC	EXCHANGE CORRESPONDENCE WITH DESCRIPTION OF THOMAS RE APPLICANT BACKGROUND CHECK ISSUE	0.20 hrs @ 150	/hr	30.00
07 27 2022	GC	REVIEW EMAIL FROM D. THOMAS WITH NEW RECORD REQUEST FROM CITIZEN	0.10 hrs @ 150	/hr	15.00
07 27 2022	GC	REVIEW OPEN RECORDS APPEAL FROM CITIZEN	0.20 hrs @ 150	/hr	30.00
07 29 2022	GC	EXCHANGE CORRESPONDENCE WITH DESCRIPTION OF SUBPOENA	0.10 hrs @ 150	/hr	15.00
07 29 2022	GC	PREPARE CORRESPONDENCE TO ATTY NU'MAN RESPONDING TO HER QUESTIC AND REQUESTS FOR INFORMATION TO SHELBURNE	DNS	/hr	60.00
07 29 2022	GC	REVIEW EMAIL FROM D. THOMAS WITH RECORDS FOR RESPONDING TO CITIZE RECORD REQUEST	0.10 hrs @ 150 N	/hr	15.00
		To	otal Professional Service	s:	1,545.00

## **DISBURSEMENTS**

07|04|2022 TT TRAVEL EXPENSE TO BOARD OFFICE

30.42

Total Disbursements: \$30.42

### **BILL SUMMARY**

TOTAL PROFESSIONAL SERVICES	\$1,545.00
TOTAL DISBURSEMENTS	+\$30.42
TOTAL CURRENT CHARGES	\$1,575.42